HUYA 13.1-13.6 Answers
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6. Graph one cycle of y = sin 1/2 0.
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7. Graph one cycle of y = -cos 0.
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8. Write the equation for the function below.
y=2tan26
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9. Given tan 0 = -3/4. What are all possible
values of sin 8 and cos 07

.

cos = 4/5
cos = -4/5 sin =-3/5
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. Find the exact value of the cosine, sine
and tangent of 135°.

Al cos 13 =-‘2E=.707

8 - sin135= Y2 =.707

: tan 135 = -1

1 |45
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. Find the exact value of the cosine, sine
and tangent of -120°.

cos (-120) = -% =-5

il sin (-120) =-¥3  -87

tan (-120) = -.87/-.5=1.7
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3. Find the exact value of the cosine, sine
and tangent of 180°.

T

cos 180 = -1
180 - T >
(-1X0) | sine 180 =0

tan 180 =0/-1=0
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4. Given cos 0 = -1/2 and tan 0 is positive.
Find the other two ratios. Then verify
the identity.

: sin = ?
tan =
(_1)2+x2=22 1 \/?_)
1+x2= ‘x\/ " verify: (-1/2)2 + ()2 =1
X=3/3 2 1/4 +3/4 =1
4/4 = 1

¢
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5. Given sin 8 = -12/13 and tan 0 is positive.
Find the other two ratios. Then verify
the identity.

.

cos =-5/13
x2 + (-12)2 =132
x?2 + 144 = 169 tan = -12/-5=12/5

x2 =25 . x=-5 N
x=-5 12 verify: (-5/13)2 + (12/5)> =1
13 25/169 + 144/169 =1
169/169 =1

l




